Dose-volume product (DVP) as descriptor for estimating total energy imparted to patient undergoing CT examination

Choirul Anam^{1,2}, Freddy Haryanto², Rena Widita², Idam Arif², and Geoff Dougherty³

¹Department of Physics, Faculty of Mathematics and Natural Sciences, Diponegoro University, Semarang, Indonesia ²Department of Physics, Faculty of Mathematics and Natural Sciences, Institut Teknologi Bandung, Bandung, Indonesia ³Applied Physics and Medical Imaging, California State University Channel Islands (CSUCI), California, USA

E-mail: anam@fisika.undip.ac.id

Received March 31 2016 Revised July 26 2016 Accepted for publication August 12 2016 Published December 28 2016

Abstract: The purpose of this study is to expand a descriptor for estimating the total energy imparted to a patient undergoing a CT examination and to investigate its relationship to the currently used descriptor. Estimating the total energy imparted to a patient has previously been characterized by dose-length product (DLP). We propose a descriptor which we call the dose-volume product (DVP), defined as the product of the size-specific dose estimate (SSDE) and the volume irradiated in the patient (V). We also present algorithm to automate the calculation of DVP. There are several steps in calculating the DVP: the first is to contour the patient automatically, the second is to calculate the area of patient in every single slice, the third is to calculate the volume of the radiated part of the patient, the fourth is to calculate the DVP. To investigate the effectiveness of the algorithm, we used it on images of phantoms and patients. The results of this study show that the automated calculations of DVP for both body and head phantoms were in good agreement with theoretical calculations. The differences between them were within 2%. DVP and DLP had a linear relationship with R² = 0.971 (slope 1099 cm², 95% confidence interval (CI), 1047 to 1157 cm²) and R² = 0.831 (slope 248.6 cm²: CI, 237.6 to 259.7 cm²), for thorax and head patients respectively.

Keywords: dose-length product (DLP), dose-volume product (DVP), size-specific dose estimate (SSDE), volume CT dose index (CTDI_{vol}), water-equivalent diameter (D_W)

1. Introduction

The patient dose during a CT scan is greater than in other radiological modalities.¹⁻⁴ There are at least three reasons for this. Firstly, to get an image of a single slice, the exposure is continuous around the patient, rather than in plain radiography where the exposure is taken from one or two source locations.^{5,6} Secondly, the radiation measured along the longitudinal axis appears as a bell-shaped curve and the dose distribution is almost always wider than the beam width. This means that the radiation received by a particular slice of tissue is increased by the radiation received from adjacent slices.⁷⁻⁹ And thirdly, to get a CT image with an acceptable noise level requires a high tube current (mA).^{10, 11} These three reasons result in a dose for CT that is higher than in other modalities, making it very important to estimate CT dose accurately.

Estimating patient dose in a CT examination requires a unique descriptor and associated methodology which differ from those used in other modalities. The descriptor and the methodology change with the development of CT technology. The first descriptor to estimate the dose of a CT scan was the multiple scan average dose (MSAD).^{12,13} It was calculated as the average of the multiple scan dose profile (MSDP) along the longitudinal axis for a series of

scans.^{14,15} The MSDP was measured using thermoluminescent dosimeters (TLD's). These required careful handling and a long acquisition time.

Shope et al.¹² introduced the CT dose index (CTDI) as a very efficient method to estimate CT dose. CTDI measurements needed only a single axial scanning, using a pencil ionization chamber with a length of 100 mm capable of measuring the total dose along a 100 mm longitudinal axis. It used a standard PMMA phantom with a diameter of 32 cm (body phantom) and 16 cm (head phantom).¹⁶ The dose measured with the pencil ionization chamber was then divided by the width of the radiation beam.^{12, 16} The CTDI is only the same as the MSAD for a considerable number of scans.^{12, 17} Many derivative descriptors based on CTDI, namely CTDI_{FDA}, CTDI₁₀₀, CTDI_w, CTDI_{vol}, were introduced later.

For estimating the total energy imparted to a patient, CTDI_{vol} was multiplied by the scan length, to give the doselength product (DLP).¹⁸ The DLP reflects the total dose attributable to the complete scan acquisition,¹⁶ and it is proportional to the length of the scanning. For example, an abdomen-pelvis CT examination with the same CTDI_{vol} as an abdomen CT examination would have a greater DLP due to the greater scan length. Changes in scan parameters, e.g. mAs, voltage and pitch, affect the CTDI_{vol} and therefore also the DLP, while a change in scan length affects only the DLP. The DLP is a useful quantity to compare dose levels and it has become accepted through the establishment of diagnostic reference levels (DRL).¹⁹

The DLP is also very useful in calculating an estimate of the effective dose (ED). The effective dose is considered the most appropriate descriptor to compare patient dose across different imaging modalities.^{20,21} For example, the ED value for patients undergoing CT examinations is typically about 5 mSv, while for patients undergoing plain radiography it was typically one hundredth of that, namely around 0.05 mSv.²² The effective dose is a common method for estimating the risk associated with radiation exposure.²³ The effective dose is calculated by multiplying DLP by the *k* factor, which is widely available and has been extended to cover both sexes, children and newborns.²⁰ Recently the *k* factor has also been revisited and adapted to modern CT scanners and wide detectors, a range of voltage values, and all ages available in the Oak Ridge National Laboratory (ORNL) family phantom.²⁴ But effective dose remains a population-based average for patients of standard size.^{19,23}

Although CTDI_{vol} and DLP are adopted as descriptors by the practitioners,^{16, 25} a number of limitations remain in place. CTDI_{vol} is only calculated for standard phantoms with a diameter of 32 cm to represent the patient's body and 16 cm to represent the patient's head, and the standard phantom was homogeneous.²⁶ In 2011, the American Association of Physicists in Medicine (AAPM) issued a report that the estimated dose in CT should take into account the size of the patient (effective diameter), leading to the size-specific dose estimate (SSDE).²⁷ In 2014, AAPM refined the descriptor for characterizing patients using the water-equivalent diameter (D_W), which takes into account both the size and attenuation of patient.²⁸

Interestingly, DLP estimates the total energy imparted to a patient by integrating only along the longitudinal axis.¹⁶ In fact, since the radiated object is three-dimensional an accurate estimate must consider all three axes. This study expands a descriptor (from DLP into DVP), presents the algorithm for calculating it, and compares the expanded descriptor to the current descriptor (DLP).

2. Materials and methods

2.1. The dose-volume product (DVP)

Absorbed dose, a physical non-stochastic quantity, is defined simply as the ratio of the energy imparted (E) by any ionizing radiation to the matter of mass (m). Therefore, the energy imparted can be written as:

$$E = D \times m \tag{1}$$

or

$$E = D \times \rho \times L \times A \tag{2}$$

D is absorbed dose and ρ is mass density of the matter.



Figure 1. Flow chart of volume and DVP calculations.

The current descriptor for estimating total energy imparted to the patient underwent CT examination is the doselength product (DLP), calculated as product of CTDI_{vol} and *L*. The unit of DLP is mGy-cm. There are two variables for calculating DLP. The first one is CTDI_{vol} which estimates the dose of the patient. Currently, the descriptor for estimating patient dose is the size-specific dose estimate (SSDE) instead of CTDI_{vol} .²⁷ CTDI_{vol} is considered as an output dose descriptor only and not as a patient dose descriptor.²⁹ The SSDE is calculated using equation:

$$SSDE = CIDI_{vol} \times k(D_W)$$
⁽³⁾

where $k(D_W)$ is the conversion factor to convert CTDI_{vol} into SSDE. The $k(D_W)$ is a function of D_W which characterizes the size and composition of patients. The value of $k(D_W)$ is calculated²⁷ using:

$$k(D_W) = a \times e^{-b \times D_W} \tag{4}$$

where the value of *a* is 3.704369 and 1.874799 for body and head phantom respectively; and the value of *b* is 0.03671937 and 0.03871313 for body and head phantom respectively.²⁷ D_W in equation (4) is calculated³⁰ using:

$$D_W = 2\sqrt{\left[\frac{1}{1000}\overline{CT(x,y)} + 1\right]\frac{A}{\pi}}$$
(5)



Figure 2. Determination of slice positions.

The second variable in DLP is scan length. Actually, this descriptor neglects the area of the patient in every slice along the longitudinal axis. For a more feasible estimate, we use volume (V) instead of length (L). Therefore, a better descriptor for estimating the energy imparted to the patient is the product of SSDE and volume (V), instead of the product of CTDI_{vol} and length scan (L). We refer this descriptor as the dose-volume product (DVP), which is calculated using:

$$DVP = SSDE \times V \tag{6}$$

or

$$DVP = SSDE \times L \times A \tag{7}$$

The unit of DVP is mGy-cm³. The main challenge is to automatically and accurately obtain the SSDE and volume of the radiated part of the object (patient or phantom). For automated SSDE calculation, we refer to a previous study.³¹ In this study, we present the algorithm for automated calculation of the volume of radiated part of the objects, and the DVP. Using an automated calculation makes this descriptor (DVP) easier to be implemented in the clinical environment.

2.2. The algorithm for DVP calculation

The algorithm for automating the calculation of DVP is shown in Figure 1. The first step is to read the 3D CT images. After that, the values CTDI_{vol} , DLP, position of every slice, slope, and intercept (for converting from CT data into Hounsfield unit) are extracted from the DICOM header. If the CTDI_{vol} and DLP are not available in the DICOM header, these values are recorded manually from the CT console. Next, is to convert CT data into Hounsfield Units (HU) using: $\text{HU} = \text{CT} \text{ data} \times \text{slope} + \text{ intercept}$.

The calculation of area and D_W is started from the first slice to the last slice. To calculate both, we must first do automated contouring.³² From the result of automated contouring, we calculate the area and D_W using equation (5) for every slice. After that, we calculate the volume of the radiated object (patient or phantom) by integrating the area of every slice along the longitudinal axis. Numerical integration is performed using the trapezoidal method:

$$V = \sum_{i=1}^{n-1} \frac{1}{2} d_n (A_i + A_{i+1})$$
(8)

The distance of every slice *d* is calculated using:

$$d_1 = z_2 - z_1 \tag{9}$$

Number Patient	Sex (M/F)	Age (year)	Voltage (kVp)	Tube current (mA)	Exposure time (ms)	Slice thickness (mm)	Total slice
1	Μ	13	130	72	600	10	34
2	Μ	58	130	78	600	10	31
3	Μ	28	130	41	600	10	31
4	F	49	130	69	600	10	29
5	F	64	130	58	600	10	28
6	М	54	130	162	600	10	30
7	Μ	85	130	113	600	10	34
8	Μ	42	130	79	600	10	32
9	F	42	130	116	600	10	29

Table 1. Sexes, ages and scan parameters for patients who underwent a thoracic CT examination.

Table 2. Sexes, ages and scan parameters for patients who underwent a head CT examination.

Number Patient	Sex (M/F)	Age (year)	Voltage (kVp)	Tube current (mA)	Exposure time (ms)	Slice thickness (mm)	Total slice
1	М	61	130	167	1500	3	55
2	М	72	130	167	1500	4	24
3	F	52	130	167	1500	4	24
4	М	69	130	167	1500	4	24
5	F	31	130	167	1500	4	24
6	Μ	58	130	167	1500	4	24
7	F	60	130	167	1500	4	24
8	F	73	130	167	1500	4	24
9	F	46	130	167	1500	4	24
10	F	34	130	167	1500	4	24
11	М	16	130	167	1500	4	27
12	М	36	130	167	1500	4	27
13	F	77	130	167	1500	4	24
14	М	56	130	167	1500	4	24
15	F	34	130	88	1000	4	39
16	М	32	130	167	1500	4	30
17	Μ	72	130	165	1000	4	20

where z is the position of any particular slice (see Figure 2). The position of every slice was extracted from the DICOM header.

After computing D_W for every slice, the average D_W is calculated. After that we calculate the conversion factor $k(D_W)$ for a specific D_W . Multiplying $k(D_W)$ and CTDI_{vol} gives the SSDE values. And multiplying SSDE and volume gives DVP directly. All of these steps can be fully automated, although in this study we obtained the value of CTDI_{vol} manually from the monitor console because it was not available in the DICOM header.

2.3. Patient and phantom images

In this study, the DVP values were calculated for patients and standard phantoms. Nine patients underwent a thoracic CT and seventeen underwent a head CT were examined. Sex, age and scan parameters are shown in Tables 1 and 2. The DVP values are also calculated for the standard phantoms. The phantoms were scanned using a Siemens Sensation CT scanner. The scan parameters are shown in Table 2. The phantoms were made from PMMA material with $\rho = 1.19$ g/cm³, approximately 120 HU, 16 cm in diameter for head phantom and 32 cm in diameter for body phantom. Besides calculating the parameters automatically for the phantoms we also calculated them manually. The volume of the phantom is given by:

Scan parameters	Body Phantom	Head Phantom	
Scan type	Helical	Helical	
Voltage	120 kVp	120 kVp	
Tube current	400 mA	370 mA	
Exposure time	500 ms	1000 ms	
Slice thickness	3 mm	3 mm	
Pitch	1	1	
Total of slice	50	50	

Table 3. Scan parameters for head and body phantoms.

Table 4. Results of automated and theoretical calculation of CTDI_{vol} , *L*, DLP, *D*_W, SSDE, *V* and DVP values for head and body phantoms.

Descriptors	Head	Body
CTDIvol (mGy)	58.02	13.42
L(cm)	14.7	14.7
DLP (mGy-cm)	852.9	197.3
D_W		
Theoretical (cm)	16.94	33.87
Automated (cm)	16.79	33.48
Difference (%)	-0.89	-1.15
SSDE		
Theoretical (mGy)	56.42	14.95
Automated (mGy)	56.77	14.50
Difference (%)	0.62	-3.01
Volume		
Theoretical (10 ³ *cm ³)	2.89	11.58
Automated $(10^{3}$ *cm ³)	2.91	11.70
Difference (%)	0.69	1.04
DVP		
Theoretical (10 ³ * mGy-cm ³)	163.05	173.12
Automated $(10^{3*} \text{ mGy-cm}^3)$	165.20	169.65
Difference (%)	1.32	-2.00

$$V = \pi r^2 d$$

where r is radius of phantom and d is length of phantom.

2.4. Analysis

The linear regression model was used to estimate the relationship between DVP and DLP, both for head and thoracic patients, and to estimate the slope of the fitted line, along with its standard error and 95% confidence interval (CI). The squared coefficient of determination (R^2) was computed to find the magnitude of association.

3. Results

3.1 The DVP of phantoms

The CTDI_{vol}, *L*, DLP, D_W , SSDE, *V* and DVP values for the phantoms are shown in Table 4. The CTDI_{vol} value for the head phantom is about 4.5 times greater than the value for the body phantom because the mAs value for the head phantom (370 mAs) is greater than for the body phantom (200 mAs), and the diameter of the head phantom (16 cm)

(10)

is also less than that of the body phantom (32 cm). For a given CT technique, the patient dose decreases as patient size increases due to the increased attenuation of the incident x-ray beam.^{29, 31-34}

The radiated volumes were calculated automatically using equation (8), while the theoretical volume of the phantom was calculated using equation (10). The differences between the automated and theoretical calculations of DVP are within 2%, indicating the accuracy of our proposed algorithm.

From Table 4, although the value of DLP for the head phantom is 4.5 times greater than for the body phantom, the values of DVP for both phantoms are interestingly very similar. Since the volume of the body phantom is about four times that of the head phantom, multiplying SSDE and volume gives similar values for DVP.

3.2 The DVP of patients

The values of CTDI_{vol} , *L*, DLP, *D_W*, SSDE, *V*, and DVP for patients who underwent thorax examinations are shown in Table 5 and for patients who underwent head examinations they are shown in Table 6. The values were calculated in the same way as those in Tables 4, except that the values of *V* were only calculated automatically.

Table 5 shows that the average of the CTDI_{vol} is 5.46 mGy and the average SSDE is 8.70 mGy for the thoracic region. Thus SSDE in the thorax is greater by about 60% than CTDI_{vol}. While for the head region, the average of the CTDI_{vol} is 59.54 mGy and the average SSDE is 57.54 mGy, i.e., the SSDE in the head is lower by about 3.4% than CTDI_{vol}.

Table 5. The values of CTDIvol, L, DLP, DW, SSDE, V and DVP for patient thorax.

Patient	CTDIvol	L	DLP	Dw	SSDE	V	DVP
number	(mGy)	(cm)	(mGy-cm)	(cm)	(mGy)	(10^{3*}cm^{3})	(10 ³ *mGy-cm ³)
1	4.28	33.00	141.24	22.23	7.00	14.14	98.99
2	5.64	29.00	163.56	24.25	8.56	14.68	125.55
3	4.45	30.00	133.50	21.54	7.46	11.24	83.87
4	5.30	28.00	148.40	19.96	9.45	9.54	90.13
5	3.68	27.00	99.36	20.15	6.51	9.30	60.60
6	8.72	29.00	252.88	27.12	11.89	19.03	226.31
7	5.04	33.00	166.32	22.31	8.22	13.85	113.84
8	4.79	31.00	148.49	21.57	8.02	12.40	99.49
9	7.27	28.00	203.56	23.91	11.16	14.13	157.74

Table 6. The values of CTDI_{vol}, L, DLP, D_W, SSDE, V and DVP for patient head.

Patient	CTDI _{vol}	L	DLP	D_W	SSDE	V	DVP
number	(mGy)	(cm)	(mGy-cm)	(cm)	(mGy)	$(10^{3} x cm^{3})$	(10 ³ x mGy-cm ³)
1	68.64	15.90	1091.38	17.16	66.13	3.30	218.11
2	59.12	11.75	694.66	18.87	53.46	2.47	132.31
3	59.12	11.75	694.66	16.46	58.62	2.04	119.71
4	59.12	11.98	708.26	19.02	53.17	2.79	148.54
5	59.12	11.75	694.66	17.54	56.02	2.27	127.01
6	59.12	11.77	695.84	17.68	55.69	2.25	125.52
7	59.12	11.75	694.66	17.22	56.81	2.18	123.77
8	59.12	11.74	694.66	15.30	61.37	1.86	114.34
9	59.12	11.75	694.66	16.59	58.32	1.99	115.90
10	56.75	11.95	678.16	15.34	58.82	1.85	108.57
11	59.12	13.56	801.67	16.01	59.69	2.52	150.59
12	59.12	13.57	802.26	17.13	57.03	2.56	145.81
13	56.75	12.17	690.65	15.53	58.38	2.03	118.29
14	59.12	11.76	695.25	17.46	56.22	2.36	132.69
15	60.28	15.20	916.26	16.69	59.22	2.77	164.17
16	59.12	14.75	872.02	21.38	48.40	4.47	216.56
17	60.28	7.60	458.13	16.01	60.86	1.20	72.99

51

Figure 3 shows the comparison of SSDE and CTDI_{vol} as a function of water-equivalent diameter (D_W). It can be observed that ratio of SSDE to CTDI_{vol} decrease exponentially as D_W increases. SSDE values are higher than CTDI_{vol} in the thoracic region. In the head region, the ratio of SSDE to CTDI_{vol} is approximately 1.0 in the range of D_W between 15 to 17 cm. The patients have D_W values more than 17 cm, resulting in the average SSDE being lower than CTDI_{vol}.

The relationship between DLP and DVP in the thoracic region is linear with a slope of 1099 cm² (95% confidence interval (CI): 1047 to 1157 cm²), as seen in Figure 4 (left). The relation between DLP and DVP in the head region is linear with a slope of 248.6 cm² (95% confidence interval (CI): 237.6 to 259.7 cm²), as shown in Figure 4 (right). The coefficient of determination (\mathbb{R}^2) of 0.971 in the thoracic region and 0,831 in the head region show that DLP and DVP are strongly associated.



Figure 3. Comparison of SSDE and CTDIvol shown as a function of water equivalent diameter (DW) in the thoracic region (left) and head region (right).



Figure 4. Relationship between DLP and DVP in the thoracic region (left) and head region (right).

4. Discussions

The standard descriptors accepted in the medical practitioners for three decades in CT scan were CTDI_{vol} and DLP. Starting in the mid 2000's, CTDI_{vol} was questioned as a patient dose estimator because it did not take into account the size and attenuation of the patient.³⁵ There were numerous reports that the radiation dose not only depended on the output of the CT scanner, but also on the size and attenuation of the patient.^{32-34,36} To accommodate these concerns AAPM introduced a new descriptor in 2011, called the size-specific dose estimate (SSDE) which took into account the size of patients, characterized by the effective diameter $(D_{eff})^{27}$. In 2014, it updated the descriptor to take into account both the patient size and attenuation, using the water-equivalent diameter (D_{w}) .²⁸

Although the descriptor for estimating patient dose is changed, the descriptor for estimating the total energy imparted to the patient is still unchanged, namely the dose-length product (DLP). The DLP is calculated by multiplying CTDI_{vol} and the length of the scan. In this study we expand a descriptor for estimating the total energy imparted which we refer as the dose-volume product (DVP), calculated by multiplying SSDE and volume (*V*). DVP is an extension of DLP.

We hypothesize that DVP is more feasible than DLP because it is calculated using a more realistic approach, namely using the volume of the radiated part of the patient and the size-specific dose estimates (SSDE) which take into account the output of the CT scanner and the characteristics of the patient in just one direction. Figure 3 shows that the relationship between SSDE and CTDI_{vol} is depend on D_W . In the thoracic region, for this range of D_W , SSDE is always greater than CTDI_{vol}, indicating that it is not sufficient to estimate the patient dose using CTDI_{vol}. Therefore, it is more feasible to estimate the total energy imparted to the patient by multiplying SSDE and irradiated volume.

We also evaluated the relationship between DVP and DLP for thoracic and head CT examinations. There was a strong linear correlation between them (R^2 were 0.831 and 0.971 for both head and thorax, respectively). Therefore, DVP could be estimated directly using DLP.

The automated calculation of volume is more challenging. In this study we proposed an algorithm for calculating the volume of the radiated object. The algorithm is in good agreement with the manual calculation of the phantom estimate. The difference is within 2%. The accuracy of this algorithm for calculating the volume of the radiated part of the patient still needs to be fully validated.

There were limitations in our study. Firstly, our sample size was small, comprising only nine patients who underwent thoracic CT examination and seventeen patients who underwent head CT examination. Secondly, the volumes of radiated objects were calculated by integration of the area of every slice with *d* values extracted from the DICOM header. These results are likely underestimates, because the slice position was obtained from the center of the slice. In this estimate, parts of the objects are neglected, namely half of the slice thickness in the left side of the first slice and half of the slice thickness in the right side of the last slice. For a better estimate the missing part of objects must be included. The missing part can be calculated by adding half area of the first slice and half area of the last slice. Fourthly, the total energy imparted to the patent (DLP) is usually used to estimate the organ dose and effective dose (ED). In this study, we have not calculated the effective dose yet. In our next study we will compare the effective dose calculated using DLP and DVP.

5. Conclusion

We have proposed and tested a descriptor for characterizing the total energy imparted to the patient in terms of the dose-volume product (DVP). This descriptor is more realistic for estimating the total energy imparted to the patient than the current descriptor (DLP). The calculation of DVP is straight forward and fast, so it is very practical to implement in the clinical environment. The potential and advantages of DVP need to be investigated further.

Acknowledgements

The authors are grateful for the funding of this work by the Research and Innovation Program, Institut Teknologi Bandung (ITB) 2016, No. 006n/I1.C01/PL/2016. The authors would like to thank Mr. Masdi, from Prof. Dr. Margono Hospital, Purwokerto, Indonesia.

53

References

- ¹ Bauhs JA, Vrieze TJ, Primak AN, Bruesewitz MR, McCollough CH. CT dosimetry: comparison of measurement techniques and devices. RadioGraphics. 2008;28(1):245-53.
- ² Verdun FR, Bochud F, Gudinchet F, Aroua A, Schnyder P, Meuli R. Radiation risk: what you should know to tell your patient. RadioGraphics. 2008;28(7):1807-16.
- ³ IAEA. Dose reduction in CT while maintaining diagnostic confidence: a feasibility/demonstration study, IAEA-TECDOC-1621; 2009.
- ⁴ Slovis TL. CT and computed radiography: the picture are great, but is the radiation dose greater than required?. Am J Roengenol. 2002;179(7):39-41.
- ⁵ Bushberg JT, Seibert JA, Leidholdt EM, Boone JM. The essential physics of medical imaging. Philadelphia, PA: Lippicott, Williams & Wilkins; 2002.
- ⁶ Dowsett DJ, Johnston RE. The physics of diagnostic imaging. London: Hodder Arnold; 2006.
- ⁷ Dixon RL. A new look at CT dose measurement: beyond CTDI. Med Phys. 2003;30(6):1272-80.
- ⁸ Boone JM. The trouble with CTDI100. Med Phys. 2007;34(4):1364-71.
- ⁹ Boone JM. Dose spread functions in computed tomography: a monte carlo study. Med Phys. 2009;36(10):4547-54.
- ¹⁰Kalender WA, Wolf H, Suess C. Dose reduction in CT by anatomically adapted tube current modulation. II. phantom measurements. Med Phys. 1999;26(11):2248-53.
- ¹¹Kalra MK, Maher MM, Toth TL, Kamath RS, Halpern EF, Saini S. Comparison of Z-axis automatic tube current modulation technique with fixed tube current CT scanning of abdomen and pelvis. Radiology. 2004;232(2):347-53.
- ¹²Shope TB, Gagne RM, Johnson GC. A method for describing the doses delivered by transmission x-ray computed tomography. Med Phys. 1981;8(4):488-95.
- ¹³Goldman LW. Principles of CT: radiation dose and image quality. J Nucl Med Technol. 2007;35(4):213-25.
- ¹⁴Seram E. Computed tomography: physical principles, clinical application and quality control. WB Saunders Company; 2001.
- ¹⁵McNitt-Gray F. AAPM/RSNA physics tutorial for residents: topics in CT-radiation dose in CT. RadioGraphics 2002;22(6):1541-53.
- ¹⁶ American Association of Physicists in Medicine. The measurement, reporting, and management of radiation dose in CT. Report of AAPM TG of the Diagnostic Imaging Council CT Committee No. 23, AAPM Report No. 96; 2008.
- ¹⁷ Anam C, Haryanto F, Widita R, Arif I, Dougherty G. Profile of CT scan output dose in axial and helical modes using convolution. J Phys Conf Ser. 2016;694(1):012034.
- ¹⁸ Huda W, Mettler FA. Volume CT dose index and dose-length product displayed during CT: what good are they?. Radiology. 2011;258(1):236-42.
- ¹⁹ Kalender WA. Dose in x-ray computed tomography. Phys Med Biol. 2014;59:R129-50.
- ²⁰Huda W, Ogden KM, Khorasani MR. Converting dose-length product to effective dose at CT. Radiology. 2008;248(3):995-1003.
- ²¹ McCollough CH, Schueler BA. Calculation of effective dose. Med Phys. 2000;27(5):828-37.
- ²²Huda W, Scalzetti EM, Roskopf M. Effective doses to patients undergoing thoracic computed tomography examinations. Med Phys. 2000;27(5):838-44.
- ²³ Frush D, Denham CR, Goske MJ, Brink JA, Morin RL, Mills TT, Butler PF, McCollough C, Miller DL. Radiation protection and dose monitoring in medical imaging: a journey from awareness, trough accountability, ability, and action... but what is the destination?. J Patient Saf. 2012;8:1-11.
- ²⁴ Deak PD, Smal Y, Kalender WA. Multisection CT protocols: sex- and age-specific conversion factor used to determine effective dose from dose-length product. Radiology. 2010;257(1):158-66.
- ²⁵ Kim S, Song H, Samei E, Yin F, Yoshizumi TT. Computed tomography dose index and dose length product for cone-beam CT: monte carlo simulations of a commercial system. J Appl Clin Med Phys. 2010;12(2):84-95.
- ²⁶Nasir N, Pratama D, Anam C, Haryanto F. Calculation of size specific dose estimates (SSDE) value at cylindrical phantom from CBCT Varian OBI v1.4 X-ray tube EGSnrc Monte Carlo simulation based. J Phys Conf Ser. 2016;694(1):012040.
- ²⁷ AAPM (2011): Size-specific dose estimates (SSDE) in pediatric and adult body CT examinations, The report of AAPM TG. 204.

- ²⁸ American Association of Physicists in Medicine. Use of water equivalent diameter for calculating patient size and size-specific dose estimates (SSDE) in CT. The report of AAPM TG. 220; 2014.
- ²⁹ Anam C, Haryanto F, Widita R, Arif I. Automated estimation of patient's size from 3D image of patient for size specific dose estimates (SSDE). Adv Sci Eng Med. 2015;7(10):892-96.
- ³⁰ Wang J, Duan X, Christner JA, Leng S, Yu, McCollough CH. Attenuation-based estimation of patient size fot the purpose of size specific dose estimation in CT. part I. development and validation of methods using the CT image. Med Phys. 2012;39(11):6764-71.
- ³¹ Anam C, Haryanto F, Widita R, Arif I, Dougherty G. 2016. A fully automated calculation of size-specific dose estimates (SSDE) in thoracic and head CT examinations. J Phys Conf Ser. 2016;694(1):012030.
- ³² Anam C, Haryanto F, Widita R, Arif I, Dougherty G. Automated calculation of water-equivalent diameter (DW) based on AAPM task group 220. J Appl Clin Med Phys. 2016;17(4):320-33.
- ³³McCollough CH, Leng S, Lifeng Y, Cody DD, Boone JM, Nitt-Gray F. CT dose index and patient dose: they are not the same thing. Radiology. 2011;259(2):311-16.
- ³⁴Menke J. Comparison of different body size parameters for individual dose adaptation in body CT of adults. Radiology. 2005;236(2):565-71.
- ³⁵Brenner DJ, McCollough CH, Orton CG. It is time to retire the computed tomography dose index (CTDI) for CT quality assurance and dose optimization. Med Phys. 2006;33(5):1189-91.
- ³⁶Li X, Samei E, Segars WP, Sturgeon GM, Colsher JG, Frush DP. Patient-specific dose estimation for pediatric chest CT. Med Phys. 2008;35(12):5821-28.